Given the following relations, express each query below using relational algebra”

Hotel (hotelNo, hotelName, city)

Room (roomNo, hotelNo, type, price)

Booking (hotelNo, guestNo, dateFrom, dateTo, roomNo)
Guest (guestNo, guestName, guestAddress)

a) The names of all cities where the hotels are.

Hmy (Hotel)

b) Room numbers of all rooms at the hotel with hotel number 1101 which are more expensive than
$100.

H"OOWNO (O-price>l 00AnotelNo=1101 (RO Om))

¢) Names of all hotels who have some rooms more expensive than $200.

natural join price>200 and hotel.hotel_no=room.hotel_no

if you use cartesian product
Hhoteln ame (HOtel | X | O-price>200 (ROOm)

d) Names of guests who entered the hotel number 1400 on 25/10/2002

LeMP <= O yuso rom="250¢12002" nhoteNo=1400 (BOOKING )

Hgmwame (temp | x| Guest)
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if you use cartesian product


e) Increase the price of all rooms more expensive than $100 by $20 and the price of all other rooms by
$10.

Room <« (O pyice100 (ROOM)) U 1—[,

O e Room
0omNo ,hotelNo type, price+20 oomNo,hotelNo,type,price+l0( pri ’“’5100( ))

f) “Golf Resort Hotel” with hotel no 2140 will not operate during the year 2005. Remove this hotel and
its reservations from the database.

correction: hotelNo=2140 |

Hotel <— Hotel — o, ., .., (Hotel)

Room <— Room — o 5140 (Room)

roomNo=

Booking <— Booking — o 5140 (Booking)

roomNo=

separately

g) Find the average room price for every hotel New York.

hoteINo Gavg(price) (ROOm | X | (Gcity:"NoewYurk" (HOtel)))
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